75 1HHFEH-YEBLERAE

1H#HFHRLY

“LEE_L %BJEJT‘TI;% -glé: 'J:T 1% Fﬁ % 5,300k\7Nh
(kWh) =) —
€ B 5,382 5600 | __
1 18 H 7,907 — I
2 =5 L 7,095 E 5400 + [7] — |
3 A I 6,725
4 i# = 6,502
5 B B 6,358 5200 |-
6 I B 6338 | g
1B B 6,271 -
8 W i 6,259 5,000 w ‘
9 E 52 6,220 13 14 15 16 17 18 FE
1 2 _
PETE um e
12 1k B 6,138
13 [ L 6,120 | #5575 —% |
14 %7 P 6,063 kWh
15 & J 6014 | ¥ g E EER 2 H
16 LU ) 6,010 FRk13 5,429 5,232
17 = ] 5,942 TRi14 5,552 5,348
18 & B 5,903 TER15 5,474 5,210
19 B B 5870 | ® F %16 5,599 5410
20 % [if] 5,837 FERk17 5,723 5,504
21 % ﬂ 5,758 ER18 5,661 5,382
22 5,753
23 & gl 5,684 SE R 2 H
24 13 = 5,661
25 Ik 5§ 5645 | pg
26 % 17 5,629 TANLEEYEBLTERE 1,995 2,191
27 E r%__ 5,601 (kWh) (461i1)
28 £ E 5557 | -
29 23] 5,492 ®
30 ;# i3 5,409
31 W m| 5407 | ..
32 = bE 5,407 5
33 = 174 5,377 KB KEEDZHES 8.8 75
34 X M 5,349 (&) (441)
3% K & 5343 | & (%)
36 HE PN 5,331 (ERk18%)
37 & y3ll 5,228 (a4 EHEIEE])
38 12 fif] 5,152
39 1% x 5,086 A BB E AL R AL ER LY
0 E I 5,063 AR ER18ERE
41 F = 4,986 | -REEY-aF
42 F #* 4,969 B HRENE (BA)
43 = I 4,930 EREASIEHES(TR194E3[31 BB
44 ® R 4,881
45 # = I 4726 | E
46 BB R B 4,635
47 1t & & 4,477






